
CHEMISTRY

BOOKS - MODERN PUBLICATION

PERIODIC CLASSIFICATION OF

ELEMENTS

Exercise

1. Name two scientists who helped in

develoment of periodic table.

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_3yIEuexEG4K1


Watch Video Solution

2. Name the terms used to express:

Vertical column in the periodic table.

Watch Video Solution

3. Name the terms used to express:

horizontail rows in the periodic table.

Watch Video Solution

https://dl.doubtnut.com/l/_3yIEuexEG4K1
https://dl.doubtnut.com/l/_YKCHBqufmBqe
https://dl.doubtnut.com/l/_F8bzOMC41d73
https://dl.doubtnut.com/l/_AqwcmTBwPjWM


4. Name the scientist who classified the

elements in triads.

Watch Video Solution

5. Lithium, sodium and potassium is a

Doberenier traid. The atomic masses of Li and

K are 7 and 39 respectively. What is the

expected atomic mass of Na?

Watch Video Solution

https://dl.doubtnut.com/l/_AqwcmTBwPjWM
https://dl.doubtnut.com/l/_w4rQZ1WXtK1m
https://dl.doubtnut.com/l/_GkegOhxwTYKz


6. Give an example of a pair of elements which

are not correctly placed in the Mendelev's

periodic table according to their increasing

atomic masses.

Watch Video Solution

7. The concept of triads was given by……………

Watch Video Solution

https://dl.doubtnut.com/l/_GkegOhxwTYKz
https://dl.doubtnut.com/l/_uBjyb84sptQg


8. Sodium occurs at one of the……………….in a

Lothar Meyer cure.

Watch Video Solution

9. Name the terms used to express:

horizontail rows in the periodic table.

Watch Video Solution

https://dl.doubtnut.com/l/_4qkpnLu4Dr3r
https://dl.doubtnut.com/l/_ZgD3bHlXYzAD


10. Mendeleev's basis for the periodic table

is…………… .

Watch Video Solution

11. Give an example of the element which was

discovered before Mendeleev's periodic table.

Watch Video Solution

https://dl.doubtnut.com/l/_3fBuTsAqv1TZ
https://dl.doubtnut.com/l/_sjZ6KRPdwnRe


12. Name the element discovered

corresponding to eka-silicon predicted by

Mendeleev.

Watch Video Solution

13. X,Y and Z are thre members of a

Dobernreiner triad. The atomic mass of X is 7

and that of Y is 23. what is the atomic mass of

Z?

Watch Video Solution

https://dl.doubtnut.com/l/_Hcv8Cgv868bH
https://dl.doubtnut.com/l/_5obBf6YD1Yn2


14. Which property of atoms formed the basis

of Mendeleev's periodic classification?

Watch Video Solution

15. Justify that the discrepancy regardng

position of isotopes in the Mendeleev's

periodic table is automatically removed in the

modern periodic table.

Watch Video Solution

https://dl.doubtnut.com/l/_5obBf6YD1Yn2
https://dl.doubtnut.com/l/_ThYftmxH1Esf
https://dl.doubtnut.com/l/_m8oVv1Kk2jSL


16. Atomic number is equal to the number

of…………..in the nucleus of its atom or to the

number of ……………in the atom.

Watch Video Solution

17. Sodium atoms has protons =11 and

nuetron=12, electron=11, what is the atomic

number.

Watch Video Solution

https://dl.doubtnut.com/l/_qjMvYwSLW4HM
https://dl.doubtnut.com/l/_p1v2KHwnUEYJ
https://dl.doubtnut.com/l/_T8yWoBqJ4q8o


18. State whether true or false : The basis of

modern periodic law is atomic mass.

Watch Video Solution

19. Elements of group 0 are called noble gases.

Watch Video Solution

20. Groups are the horizontal rows of the

elements.

https://dl.doubtnut.com/l/_T8yWoBqJ4q8o
https://dl.doubtnut.com/l/_YkrqFeSfUewk
https://dl.doubtnut.com/l/_OzO2s08aw16b


Watch Video Solution

21. Modern periodic law was given by

Newlands.

Watch Video Solution

22. Modern periodic table is based upon :

Watch Video Solution

https://dl.doubtnut.com/l/_OzO2s08aw16b
https://dl.doubtnut.com/l/_HTUtwapNq8zU
https://dl.doubtnut.com/l/_TMRD5RDxbEjF


23. Isotopes belong to same…………..in the

periodic table.

Watch Video Solution

24. How many periods are there in the periodic

table?

Watch Video Solution

25. Name two transition elements.

https://dl.doubtnut.com/l/_KAHJsdHlinbH
https://dl.doubtnut.com/l/_BfRqdtpIQfME
https://dl.doubtnut.com/l/_ejdBWQ2BQRF1


Watch Video Solution

26. Name two coinage metals.

Watch Video Solution

27. In the modern periodic table, there

are…………periods.

Watch Video Solution

https://dl.doubtnut.com/l/_ejdBWQ2BQRF1
https://dl.doubtnut.com/l/_IkdUQKaMAwiE
https://dl.doubtnut.com/l/_OFn4cYpGLjd4


28. Halogen belong………….group white alkaline

earth metals belong to……………group.

Watch Video Solution

29. Elements of group 2 are called …………metals

and elemens of gorup 0 are called………… .

Watch Video Solution

https://dl.doubtnut.com/l/_4DoTTeKJ7uqu
https://dl.doubtnut.com/l/_wnRD2o7YBwoz


30. The electronic configuraiotn of Si is 2,8,4. It

belongs the group…………..

Watch Video Solution

31. An atom of an element has the electronic

configuration 2,8,2.

to which group does it belong?

Watch Video Solution

https://dl.doubtnut.com/l/_Ha7Y9ummhCeO
https://dl.doubtnut.com/l/_5230bUSieMzt


32. An atom of an element has the electronic

configuration 2,8,2.

Give one name of this group.

Watch Video Solution

33. An atom of an element has the electronic

configuration 2,8,2.

Give one example of an element belonging to

this group.

Watch Video Solution

https://dl.doubtnut.com/l/_z0fXr7gWvHOz
https://dl.doubtnut.com/l/_P2mpNhSFeT8F


34. Write names of the following:

Halogen belonging to second period.

Watch Video Solution

35. Write names of the following:

Alkali metal belonging to fourth period.

Watch Video Solution

https://dl.doubtnut.com/l/_P2mpNhSFeT8F
https://dl.doubtnut.com/l/_uyoltSXhbiZb
https://dl.doubtnut.com/l/_o39KKavV71KX


36. Write names of the following:

a noble gas having atomic number 18.

Watch Video Solution

37. Write names of the following:

an element having atomic number 8.

Watch Video Solution

https://dl.doubtnut.com/l/_n3kXzJA42EOn
https://dl.doubtnut.com/l/_bWtdOxadrVqf


38. Write names of the following:

an element whose atom has electronic

configuration 2,8,2

Watch Video Solution

39. Give the groups and periods in the moders

periodic table?

Watch Video Solution

https://dl.doubtnut.com/l/_in8NdJX23eEz
https://dl.doubtnut.com/l/_O0Klx8FqNglh


40. In the following sets of elements, one

element does not belong to the same set.

Select the element and state the reasons why

it does not belong to the set:

Boron, Oxygen, Carbon, Fluorine, sulphur.

Watch Video Solution

41. What is modern periodic law?

Watch Video Solution

https://dl.doubtnut.com/l/_A2C3CVqSSIEj
https://dl.doubtnut.com/l/_2hr89wkYgy1A
https://dl.doubtnut.com/l/_JgWXJ8AQitoa


42. Lithium, sodium and potassium belong to

same……….. .

Watch Video Solution

43. Which among the following pairs has:

higher metallic character: Na or Si.

Watch Video Solution

44. Metallic character………..down the group.

https://dl.doubtnut.com/l/_JgWXJ8AQitoa
https://dl.doubtnut.com/l/_leie1cYkHsDu
https://dl.doubtnut.com/l/_kvq695Ok6Jut


Watch Video Solution

45. Atomic size………….along the period.

Watch Video Solution

46. Electronegative character………….down the

group.

Watch Video Solution

https://dl.doubtnut.com/l/_kvq695Ok6Jut
https://dl.doubtnut.com/l/_6FAraSs4KOQE
https://dl.doubtnut.com/l/_B5wkDa0bXnhP


47. Consider the following part of third period:

Mg,Al,Si,P,S

which of these:

has smallest size?

Watch Video Solution

48. Give names of the following:

smallest element in first group.

Watch Video Solution

https://dl.doubtnut.com/l/_v3v1qaCumCuB
https://dl.doubtnut.com/l/_Fze4xxoW8X8Q
https://dl.doubtnut.com/l/_2qGLDOO95fDo


49. Give names of the following:

smallest element among noble gases.

Watch Video Solution

50. An element 'S' has two electrons in M shell

Identify the element.

Watch Video Solution

https://dl.doubtnut.com/l/_2qGLDOO95fDo
https://dl.doubtnut.com/l/_kkdL0HxYDshF


51. An element 'S' has two electrons in M shell

To which group and period does it belong?

Watch Video Solution

52. An element 'S' has two electrons in M shell

Write the formula of its chloride.

Watch Video Solution

https://dl.doubtnut.com/l/_kKkT8gdnayv8
https://dl.doubtnut.com/l/_B15qrNxI1a2t


53. An element 'S' has two electrons in M shell

What type of ion will it form?

Watch Video Solution

54. An element 'S' has two electrons in M shell

Is it’s a metal or non-metal?

Watch Video Solution

https://dl.doubtnut.com/l/_QDkQJ0jD1sl8
https://dl.doubtnut.com/l/_TcZgO56RpnU5


55. Look at a part of periodic table given

below:




Which is the element with smallest size in

second period?

Watch Video Solution

56. Look at a part of periodic table given

below:

https://dl.doubtnut.com/l/_HlWkMqtKFcZk
https://dl.doubtnut.com/l/_mrZ3t1KwNQpb





Which of these elements has zero valency?

Watch Video Solution

57. Look at a part of periodic table given

below:




Which out of G and I has larger size?

https://dl.doubtnut.com/l/_mrZ3t1KwNQpb
https://dl.doubtnut.com/l/_YJ6yIUnkvsjX


Watch Video Solution

58. Look at a part of periodic table given

below:




Which of these shows valency of 4?

Watch Video Solution

https://dl.doubtnut.com/l/_YJ6yIUnkvsjX
https://dl.doubtnut.com/l/_bU6CcwVSEcFg


59. The electronic distribution of eight

elements are given below:

A: 2,8,1

B: 2,5

C:2,8,7

D:2,8,5

E: 2,8,8,2

F: 2,8

G: 2,8,4

H: 2,4

Which of these belong to same period?

Watch Video Solution

https://dl.doubtnut.com/l/_YPcRSj9MIm7C


60. The electronic distribution of eight

elements are given below:

A: 2,8,1

B: 2,5

C:2,8,7

D:2,8,5

E: 2,8,8,2

F: 2,8

G: 2,8,4

H: 2,4

Which of these belong to same group?

https://dl.doubtnut.com/l/_YPcRSj9MIm7C
https://dl.doubtnut.com/l/_YVnJwopHyO4j


Watch Video Solution

61. The electronic distribution of eight

elements are given below:

A: 2,8,1

B: 2,5

C:2,8,7

D:2,8,5

E: 2,8,8,2

F: 2,8

G: 2,8,4

https://dl.doubtnut.com/l/_YVnJwopHyO4j
https://dl.doubtnut.com/l/_TgyPdjjCoerh


H: 2,4

Which of these has valency equal to 3?

Watch Video Solution

62. Write the electronic configuration of:

third element of second period.

Watch Video Solution

63. Write the electronic configuration of:

atom of third period having largest size.

https://dl.doubtnut.com/l/_TgyPdjjCoerh
https://dl.doubtnut.com/l/_lhiPs0XnHFIZ
https://dl.doubtnut.com/l/_kU8fugqMNkKp


Watch Video Solution

64. Write the electronic configuration of:

noble gas of third period.

Watch Video Solution

65. Write the electronic configuration of:

third alakline earth metal.

Watch Video Solution

https://dl.doubtnut.com/l/_kU8fugqMNkKp
https://dl.doubtnut.com/l/_cjyqPwbK6CSf
https://dl.doubtnut.com/l/_5QGV48Owyhzf
https://dl.doubtnut.com/l/_bUHyOUVSmdOP


66. Write the electronic configuration of:

second alkali metal.

Watch Video Solution

67. Write the electronic configuration of:

atom of third period with valency of 4.

Watch Video Solution

68. Name two metalloids.

https://dl.doubtnut.com/l/_bUHyOUVSmdOP
https://dl.doubtnut.com/l/_2OTgzxtglvFc
https://dl.doubtnut.com/l/_513Pqo3ryoD7


Watch Video Solution

69. State modern periodic law.

Watch Video Solution

70. How many periods are present in Henry's

periodic table.

Watch Video Solution

https://dl.doubtnut.com/l/_513Pqo3ryoD7
https://dl.doubtnut.com/l/_ZP42jfGHRPg7
https://dl.doubtnut.com/l/_PY2fAfLxkrFL


71. How many gorups are present in Modern

periodic table?

Watch Video Solution

72. What is the valency of aluminium?

Watch Video Solution

73. Non-metals are located on the right hand

side of the periodic table. Is this statement

https://dl.doubtnut.com/l/_w3wAFeSLmank
https://dl.doubtnut.com/l/_cbPlRBqm0nIT
https://dl.doubtnut.com/l/_gkUIlLHi8CXa


correct or wrong?

Watch Video Solution

74. What is chemical nature of ?

Watch Video Solution

Al2O3

75. Out of Li and Be, which one has larger

atomic size?

Watch Video Solution

https://dl.doubtnut.com/l/_gkUIlLHi8CXa
https://dl.doubtnut.com/l/_yGp39bQaNJtj
https://dl.doubtnut.com/l/_IMswQpDcNXg2


76. Out of N and O, which larger size?

Watch Video Solution

77. Name the most electronegative element in

the periodic table.

Watch Video Solution

78. Which is the third alkaline earth metal?

Watch Video Solution

https://dl.doubtnut.com/l/_sR7PV3So56Xe
https://dl.doubtnut.com/l/_lE2LKz7vIH3C
https://dl.doubtnut.com/l/_OyWAuanHPeYP


79. Which out of Li and K is more metallic?

Watch Video Solution

80. What is the number of elements in the

third period?

Watch Video Solution

81. Who gave the law of octaves?

https://dl.doubtnut.com/l/_OyWAuanHPeYP
https://dl.doubtnut.com/l/_tAz77h3f4Bs3
https://dl.doubtnut.com/l/_lWqJMPeaJMKt
https://dl.doubtnut.com/l/_VEwgEiy3Ok3v


Watch Video Solution

82. Name the element present in group 13 and

period 3.

Watch Video Solution

83. Which is least metallic out of Ca, Sr, Mg and

Ba?

Watch Video Solution

https://dl.doubtnut.com/l/_VEwgEiy3Ok3v
https://dl.doubtnut.com/l/_JFmh3eTvPSEx
https://dl.doubtnut.com/l/_vUItirhiEyYN
https://dl.doubtnut.com/l/_VfFR7tad5SgJ


84. How does atomic size of elements vary on

moving from left to right in a period

Watch Video Solution

85. Name one element which belongs to group

18.

Watch Video Solution

https://dl.doubtnut.com/l/_VfFR7tad5SgJ
https://dl.doubtnut.com/l/_ep6VVP2FXgRR


86. Does metallic character vary in group, does

it increase or decrease ?

Watch Video Solution

87. How metallic character vary on moving

from left to right along a period?

Watch Video Solution

https://dl.doubtnut.com/l/_2xSPSykq3Ih5
https://dl.doubtnut.com/l/_SojQ8qNoF8hj


88. Mendeleev's basis for the periodic table

is…………… .

Watch Video Solution

89. Magnesium is more electropositive than

sodium.

Watch Video Solution

https://dl.doubtnut.com/l/_T9mYG203ZlpN
https://dl.doubtnut.com/l/_fgXsQLRUVHDW


90. The valency of the elements of the same

group is same.

Watch Video Solution

91. Magnesium belongs to alkaline earth

metals family.

Watch Video Solution

https://dl.doubtnut.com/l/_rAy1QdN81SgP
https://dl.doubtnut.com/l/_kB0GgvV3AjnD


92. There are 18 elements in the third period of

the periodic table.

Watch Video Solution

93. State whether True or False: The atomic

radii increase along a period form left to right.

Watch Video Solution

https://dl.doubtnut.com/l/_DzPvm91yV2hk
https://dl.doubtnut.com/l/_PnHoNp6IGuuK


94. State whether true or false: Metallic

character increase down a group.

Watch Video Solution

95. State whether true or false: The concept of

triads of elements was given by Dobereiner.

Watch Video Solution

https://dl.doubtnut.com/l/_AWIUREgM3bHJ
https://dl.doubtnut.com/l/_8TGczW8IlaRf


96. In the third period, sodium has the

maximum density.

Watch Video Solution

97. Na,Mg and Al belong to the same period.

Watch Video Solution

98. The elements with 8 electrons in the outer

shell are called noble gases.

https://dl.doubtnut.com/l/_hw0Lab8nqkg6
https://dl.doubtnut.com/l/_B8BH7kfMzQI9
https://dl.doubtnut.com/l/_3k0JAOSmgWHg


Watch Video Solution

99. Aluminium belongs to group 13 and has

valency of 3.

Watch Video Solution

100. The oxides of metals are acidic in nature.

Watch Video Solution

https://dl.doubtnut.com/l/_3k0JAOSmgWHg
https://dl.doubtnut.com/l/_iY3DIyFRr54o
https://dl.doubtnut.com/l/_vpuJQeyqdcwc


101. The metallic character of the elements in a

period decreases from left to the right , justify

.

Watch Video Solution

102. Atomic radius of B is less than that of N.

Watch Video Solution

https://dl.doubtnut.com/l/_46U9ibEsy0zN
https://dl.doubtnut.com/l/_S6QohBa2QBCA


103. Potassium and calcium belong to 4th

period.

Watch Video Solution

104. All halogens have 7 electrons in the

valence shell.

Watch Video Solution

https://dl.doubtnut.com/l/_TkTFWSttM7DC
https://dl.doubtnut.com/l/_Rt9AhqIR0P9h


105. The element eka-aluminium discovered

later was named germanium.

Watch Video Solution

106. The example of Dobereiner's triad is

Mg,Ca,Ba.

Watch Video Solution

https://dl.doubtnut.com/l/_Gkg9XrFBFWaj
https://dl.doubtnut.com/l/_KqX6f7hpEOWT


Example

107. In periodic table isotopes are not given

separate places.

Watch Video Solution

1. A part of the periodic table is show below:




Which of these is/are noble gases?

https://dl.doubtnut.com/l/_7pMAnrlNdSj0
https://dl.doubtnut.com/l/_9kda42LrhdmE


Watch Video Solution

2. A part of the periodic table is show below:




Which of these is/are have 3 valence

electrons?

Watch Video Solution

https://dl.doubtnut.com/l/_9kda42LrhdmE
https://dl.doubtnut.com/l/_8yx4USLtPKET


3. A part of the periodic table is show below:




Which of these is/are have strong tendency to

lose one electron?

Watch Video Solution

4. A part of the periodic table is show below:




https://dl.doubtnut.com/l/_adzGpJRcihVl
https://dl.doubtnut.com/l/_eitAiv7DGr0v


Which of these is/are alkaline earth metals?

Watch Video Solution

5. Consider the group 1 of the periodic table

and answer the following questions:

Name the elements present in it.

Watch Video Solution

6. Consider the group 1 of the periodic table

and answer the following questions:

https://dl.doubtnut.com/l/_eitAiv7DGr0v
https://dl.doubtnut.com/l/_ecOgFeEv91am
https://dl.doubtnut.com/l/_e1lLgrfYuXfK


Write down the electronic configuraotn of the

first three element of Group 1.

Watch Video Solution

7. Consider the group 1 of the periodic table

and answer the following questions:

What similartiy do you find in the electronic

configuration?

Watch Video Solution

https://dl.doubtnut.com/l/_e1lLgrfYuXfK
https://dl.doubtnut.com/l/_zy6AdalH2ly1


8. Consider the group 1 of the periodic table

and answer the following questions:

How many valence electrons are present in

these three elements?

Watch Video Solution

9. Two elements X and Y have atomic number 6

and 17 respectively. To which period and group

do these belong?

Watch Video Solution

https://dl.doubtnut.com/l/_6GXZTex3rBKD
https://dl.doubtnut.com/l/_SJIf5aKUPJ9O


10. The second period of the long time of

periodic table contains the following

elements:




Write down their electronic configuratin.

Watch Video Solution

11. The second period of the long time of

periodic table contains the following

elements:

https://dl.doubtnut.com/l/_SJIf5aKUPJ9O
https://dl.doubtnut.com/l/_bdtPwXaevqEc
https://dl.doubtnut.com/l/_aJTeJ3DTei4q





Do they contain the same number of shells?

Watch Video Solution

12. How were the positions of isotopes of

varoius elements decided in the Modern

periodic table?

Watch Video Solution

https://dl.doubtnut.com/l/_aJTeJ3DTei4q
https://dl.doubtnut.com/l/_arUvpleUACr3


13. Is it possible to have an element with

atomic number 1.5 placed between hydrogen

and helium?

Watch Video Solution

14. Where do you think should hydrogen be

placed in the Modern Peridic table?

Watch Video Solution

https://dl.doubtnut.com/l/_HUegYR8w8Yty
https://dl.doubtnut.com/l/_8wVcCuhV11Wv


15. How do you calculate the valency of an

element from its electronic configuration?

Watch Video Solution

16. What is the valency of magnesium with

atomic number 12 and sulphur with atomic

number 16?

Watch Video Solution

https://dl.doubtnut.com/l/_g3THids8qr4g
https://dl.doubtnut.com/l/_LCVkoyExIquP


17. Find out the valencies of the first two

elements.

Watch Video Solution

18. How does the valency vary in the period on

going from left to right?

Watch Video Solution

https://dl.doubtnut.com/l/_5iUknkkgPzyI
https://dl.doubtnut.com/l/_mVIXLfEdyP9A


19. How does the valency vary on going down a

group?

Watch Video Solution

20. In a periodic table

How do you think the tendency to lose

electrons will change in a group?

Watch Video Solution

https://dl.doubtnut.com/l/_r6ySmegdPlKW
https://dl.doubtnut.com/l/_jYhyJeNZ3IzU


21. In a periodic table

How would the tendency to gain electrons

change as you go from left to right across a

period?

Watch Video Solution

22. In a periodic table

How would the tendency to gain electrons

change as you go down a group?

Watch Video Solution

https://dl.doubtnut.com/l/_OTRa6yFbUv3v
https://dl.doubtnut.com/l/_SMImRzdbPNnf


23. An atom of an element has electronic

configuraiton 2,8,7. To which group does it

belong? Name the family name, if any.

Watch Video Solution

24. Which of the following belongs to

same period

https://dl.doubtnut.com/l/_SMImRzdbPNnf
https://dl.doubtnut.com/l/_VUhW2fzo2EXb
https://dl.doubtnut.com/l/_Ea7a8ZIrjMNK


same group?

Watch Video Solution

25. The third period of the long form of

periodic table contains the following

elements:




On which side of the periodic table do you find

the metals?

https://dl.doubtnut.com/l/_Ea7a8ZIrjMNK
https://dl.doubtnut.com/l/_m7sbunXr5iJq


Watch Video Solution

26. The third period of the long form of

periodic table contains the following

elements:




On which side of the periodic table do you find

the non-metals?

Watch Video Solution

https://dl.doubtnut.com/l/_m7sbunXr5iJq
https://dl.doubtnut.com/l/_yJFYHHgFcBJ0


27. Three elements X,Y and Z belong to groups

2,15 and 17 respectivley. Predict their

number of valence electrons.

Watch Video Solution

28. Three elements X,Y and Z belong to groups

2,15 and 17 respectivley. Predict their

valency.

Watch Video Solution

https://dl.doubtnut.com/l/_jX2JCiQ98Zee
https://dl.doubtnut.com/l/_Bg5xMMYEGf1a
https://dl.doubtnut.com/l/_eVaoJeqAghtK


29. A part of the periodic table is given below.

The elements sodium, carbon, chlorine and

argon have been placed in their correct

positions. The positions of other elements are

represented by hypothetical letters.




With reference to the table answer the

following

Which of these has electronic configuraiton

(2,8,4)?

Watch Video Solution

https://dl.doubtnut.com/l/_eVaoJeqAghtK


30. A part of the periodic table is given below.

The elements sodium, carbon, chlorine and

argon have been placed in their correct

positions. The positions of other elements are

represented by hypothetical letters.




With reference to the table answer the

following

Which element has largest size in the second

period?

Watch Video Solution

https://dl.doubtnut.com/l/_fgWz0b8W2pUQ


31. Did doberiner's triads also exist in the

columns of newlands's octaves? Compare and

find out.

Watch Video Solution

32. What were the limitations of deberiner's

calssification?

Watch Video Solution

https://dl.doubtnut.com/l/_fgWz0b8W2pUQ
https://dl.doubtnut.com/l/_TifTqPCEDcw2
https://dl.doubtnut.com/l/_teXIU2gc26ay
https://dl.doubtnut.com/l/_zkyp9NlhYeln


33. What were the limitations of newland's law

of octaves?

Watch Video Solution

34. Besides gallium which other elements have

since been discovered to fill the gaps left by

mendeleev in his periodic table?

Watch Video Solution

https://dl.doubtnut.com/l/_zkyp9NlhYeln
https://dl.doubtnut.com/l/_tTP1uASL0ela


35. What were thae criteria used by Mendeleev

in creating his periodic table?

Watch Video Solution

36. Why do you think the noble gases are

placed in a separate group?

Watch Video Solution

https://dl.doubtnut.com/l/_8C3nACVvqmGT
https://dl.doubtnut.com/l/_dwmgG8yuYluU


37. How could modern periodic table remove

various anomallies of mendeleev periodic

table/

Watch Video Solution

38. Name two elements you would expect to

show chemical reactions similar to sodium.

What is the basis for your choice?

Watch Video Solution

https://dl.doubtnut.com/l/_xqKC1ryrhG1F
https://dl.doubtnut.com/l/_wtB9duNnQjUW
https://dl.doubtnut.com/l/_YDyNWn1Vtshk


39. Name three elements that have only a

single electron in their outermost shells

Watch Video Solution

40. Name two elements that have two

electrons in their outermost shells

Watch Video Solution

https://dl.doubtnut.com/l/_YDyNWn1Vtshk
https://dl.doubtnut.com/l/_ISZMuuRqWl8T


41. Name: three elements with filled outermost

shells

Watch Video Solution

42. Lithium, sodium, potassium are all metals

that react with water to libérate hydrogen gas.

Is there any similarity in the atoms of these

elements ?

Watch Video Solution

https://dl.doubtnut.com/l/_YeKB3jJ5mvnd
https://dl.doubtnut.com/l/_0Z8m8p7b1G0D
https://dl.doubtnut.com/l/_xTRGuG6jm3Q4


43. Helium is an unreactive gas and neon is

gas of extermely low reactivity

What if anything do their atmos have in

common?

Watch Video Solution

44. In the modern periodic table which are the

metals among the first ten elements?

Watch Video Solution

https://dl.doubtnut.com/l/_xTRGuG6jm3Q4
https://dl.doubtnut.com/l/_pCBeOevRss4a
https://dl.doubtnut.com/l/_Wr0p8p4fkQvW


45. By considering their position in the

periodic table, which one of the following

elements would you expect to have the most

metalllic characteristics?

Ga Ge As Se Be.

Watch Video Solution

46. Which of the following statements Is not a

correct statement about the trends when

going from left to right across the periods of

periodic table.

https://dl.doubtnut.com/l/_Wr0p8p4fkQvW
https://dl.doubtnut.com/l/_bD2qU4AeoSmZ


A. The elements become less metallic in

nature.

B. The number of valence electrons

increases

C. The atoms lose their electrons more

easily

D. The oxides become more acidic.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_bD2qU4AeoSmZ
https://dl.doubtnut.com/l/_RcwVTVpDz7Yd


47. Which element has: Two shells both of

which are completely filled with electrons?

Watch Video Solution

48. Which element has: The electronic

configuration 2, 8, 2?

Watch Video Solution

https://dl.doubtnut.com/l/_RcwVTVpDz7Yd
https://dl.doubtnut.com/l/_ramvnbBmP144


49. Which element has: A total of three shells,

with four electrons in its valence shell?

Watch Video Solution

50. Which element has: A total of two shells

with three electrons in its valence shell?

Watch Video Solution

https://dl.doubtnut.com/l/_6Pg5mJ5WMfoP
https://dl.doubtnut.com/l/_mEqTuy4hUW8R


51. Which element has: Twice as many

electrons in its second shell as in its first shell?

Watch Video Solution

52. What property do all elements in the same

column of the periodic table as boron have in

common?

Watch Video Solution

https://dl.doubtnut.com/l/_uZ7AkAzo3e6Z
https://dl.doubtnut.com/l/_gdbVEhfE33Pr


53. An atom has electronic configuration 2,8,7.

What is the atomic number of this elements?

Watch Video Solution

https://dl.doubtnut.com/l/_K58G7O4gLanP

